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KS2 (P5-7)

THE REFORESTATION
PROJECT

TEACHERS NOTES

This is a fun way to help H
develop and practice: 1.
» working with fractions 2

» working with decimals.

How to raise money:

Pupils can get sponsored for taking part, or they can
get sponsored for each tree they plant, eg 10p per tree. 4
Alternatively, parents and carers can make a donation.

What you'll need:

« A copy of this worksheet.
+ A copy of the grid for each pupil. A
¢ Counters

« Workbooks or scrap paper for the pupils to
make their workings.

Numnbei
De

ow to play:

Pupils can play individually, in pairs or in groups.

. Write each question on the board one at a time,

giving the pupils two minutes to write an answer.

. For every question they get right, they can move

their counter along five squares (or plant five trees)
on their hundred square.

. For every question they get wrong, they must

chop down 3 trees by moving their counter back
three squares.

. The winner is the first to reforest the whole

hundred square.

. Pupils can then show how far they got on the

hundred square by drawing trees or colouring it in.

NSPCC
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KS2 (P5-7)

THE REFORESTATION
PROJECT

TEACHERS NOTES

Answers:

Can you complete these calculations?

1A.
2 1 3
R S
5 5 5
1C.

3 1 2
4 4 4
1E.

NSPCC

18.

Numbei
D¢

Can you solve these additions using the column method?

2A. 28.
057+042= 0.99 _ 007+0.14= O.ZJ;MM
o.th o.th
0.5 7 0.0 7
+ 0.4 2 +0.1 4
05[] 1 2I]
1
2C. 2D.
O.23+O.58=~9_;81 » 0.85+0.02= 0.87 -
o.th o.th
0.2 3 0.8 5
+ 0.5 8 +0.0 2
0].[8]1] 0].[8]7]
e e
Can you solve these subtractions using the column method?
3A. 3B.
0.89-043 =m9_;4 6 046-0.05 =,.,9..;41
o.th o.th
0.8 9 0.4 6
-0.4 3 -0.0 5
0].[4]6] 0].[4]1]
3C. 3D.
0.64-0.26 =~9_;38 » 0.21-0.05 =..,9.;16 ~
o.th o.t h
0.8 4 0.ZX
-0.2 6 -0.0 5
[0} (3]8] [0} (1]e]
OXFORD
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KS2 (P5-7)

THE REFORESTATION

PROJECT

TEACHERS NOTES

Answers continued:

Can you complete these calculations?

4A.

063 +10.371=1

4C.

1 =025+0.75

4D.

48.

1=10.93i+ 0.07

eg0.47 i+ teg0.23}+ 0.3=1

(Any answers that total 0.7 across

the two boxes are correct)

NU HWII.‘I
D¢

6. Can you arrange these numbers in ascending
order from left to right?

2.15 1.52 1.25 251 2.05 2.5

1.25§<11.52§<12.05<i2.15i <} 2.5 <} 2.51

7. Can you solve the number puzzle?

My number is greater than 8,
but less than 10.

My number has 2 decimal places.

Can you complete these addition and
subtraction calculations?

The hundredths number is even.

The tenths numberis 7.

5A. 58. .
The ones number is odd.
562+334= 8.96 293+708= 10.01
. e rTmm—— The hundredths number is
T O.t h T O.t h
reater than the tenths number.
5l B2 2 .93 J
+ B B + 7 0 8 What is my number? °
_Is).[o]e! m@w@ 9.78
5C. 5D.

9.32-589= 3.43

A T S AT A

t h TO.

.22

T O .

17.85-309= 14.76

TR R RSN

t h

17.895%

- 5.89 - 3.009

U T P T S

HEl]

T

NSPCC
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KS2 (P5-7)

THE REFORESTATION

PROJECT

PUPILS WORKSHEET

Questions:

Can you complete these calculations?

1A.

2 1
R S
5 5

1C.

3

4 4

1E.

3 9
4 8

1G.

4 12
5 10

NSPCC

18.

TH.

18

Numbei
D¢

Can you solve these additions using the column method?

2A.
057+042=

2C.

28.
00r+0.14=__
o.t h
0.0 7
+0.1 4

LI
2D.
085+002-__

o.t h
ONE|5
+0.0 2

BT

L]

P e

Can you solve these subtractions using the column method?

3A.
0.89-043= _
o.th
0.8 9
-0.4 3
LT
3C.
0.64-026=__

3B.
046-005=_

6.t h
0.4 6
-~ 0.0 5

G TN ]

L]

3D.
021-005=__

0 tPT
0.2 1
- 0.0 5

(L]

P e
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KS2 (P5-7)

THE REFORESTATION

PROJECT

PUPILS WORKSHEET

Questions continued:

Can you complete these calculations?

Numnbei

Dey/

- - N B AN A asw e VR S

6. Can you arrange these numbers in ascending

order from left to right?

2.15 1.52 1.25

251

2.05 2.5

4A. 48.
0.63 + =1 = + 0.07
4C.
1 =025+
4D.
+ +03=1
Can you complete these addition and
subtraction calculations?
5A. 58B.
562+3.34 = 293+ 708 =
TO.th TO.th
5.6 2 2R9|2
+ 3.3 4 + 7.0 8
5C. 5D.
9.32-5.89 = 17.85-3.09n_=wm"mwwmm
TO.th TO.th
9.3 2 1 7.85
- 5.8 9 - 3.0 9

U T T T S

NN

e e

NSPCC

U T T T S

NN

B

7. Can you solve the number puzzle?

My number is greater than 8,

but less than 10.

My number has 2 decimal places.

The hundredths number is even.

The tenths numberis 7.

The ones number is odd.

The hundredths number is
greater than the tenths number.

What is my number?

@ MyMaths

y OXFORD

UNIVERSITY PRESS



€52TLTOZ( 78E A8sIar *JT/JE0DS PUBROIS “TORITZ SSIEM Pue puelBuz Aeyd paisisiBay "usip|iy) 0} A}jaNid) Jo UORUBASI 8U3 104 A3B100S [euoneN JTO0Z IIASNG

Numbes

THE REFORESTATION
PROJECT De

PUPILS WORKSHEET

Reforestation grid

[ ]
[ J
Can you help to reforest the hundred grid? Answer your teacher’s questions correctly to
plant 5 trees. But watch out! Answer incorrectly and you'll have to chop down 3 trees.
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